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6) Solve each equation by factoring.
(Use the x-method.)

x2 -7x-18=0
(x + 2) (x-9 =0

x+2=0 x-9:=0
X = -2 Xx=9
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7) Solve the equation using the quadratic
bx? - 9x -5=0

formula.

a=5’b=-9’C=-5 -

x = 9 +V81 - 4(5)-5) = 9 + V81 + 100
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8. Find the number of solutions for this equation.

=32+ 2x-12=0
b: - 4ac = 2: - 4(-3)(-12)
=4 - 144
= -140

negative discriminant - no solution
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1) Graph the equation. Label the
vertex and the axis of symmetry.

y = -x% +2x + 1

= -b/2a = -2/-2 = 1
axis of symmetry x =1

y = _12+2(1)+1=2

vertex (1, 2)
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2) Solve using square roots.
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3) Solve using square roots.

3x* =12
3 3
x%= 4
X=%*2
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4) Solve using square roots.

2x2 +8=0
-8 -8
2x% = -8

no solution ( you can't square

root a negativel)




image5.png
5) Use the zero product property to
solve the equation.

(x+3)(x-5)=0
x+3=0 x-5=0

-3 -3 +5 +bH
X =-3 (X =5 ]





